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Mass COMMUNICATION AND JOURNALISM

1. Receivers’ pre-existing motives and

1. 22olF 2ol 2Reel 438 ARIGITR

needs find a reflection in: ofsTlere o3
(A) Inoculation theory (A) TERE fRefics

(B) Uses and Gratifications theory
(C) Development priorities

(D) Two-step flow of communication

2. Which of the following codes are identified
by Stuart Hall?

I. Progressive code I;.
II. Regressive code L.
III. Dominant code v
IV. Oppositional code

Codes:

(A) Tand II
(B) Tand III
(C) Tl and IV
(D) Il and IV

3. Paradigms and syntagms in signs were
extensively used by:

(A) Ferdinand de Saussure
(B) David Crystal

(C) Roland Barthes

(D) Stuart Allan

4. John Fiske coined the concept:

(A) Semiotic democracy
(B) Semiotic autocracy
(C) Semiotic irregularity
(D) Semiotic representation

(B) 2TTE @k Aifbfr=i fAefare
(C) (CrSaIG% AIfFT-9
(D) 5-G%7 @l =% FYHEIE-9

2. T3 @i @ efer G 21 aE s

. (diabre @

Reabre @
RIS (e
oS (e
¢

(A) 1911
(B) 19a: 111
(C) I &RV
(D) 1191V

3. AR S ATAGR G FeGyioe
S (@ IR IR

(A) wifda 7 >P]a

(B) (EfvT &b

(C) T s

(D) 53 Siet=

4. T FE @ gNTT 2496, O 2o

(A) FReHF @EIeER
(B) @IfNefoss SEicaE
(©) el Tmeafa
(D) Ffwefs RamEes=ia

5. Buddhistcommunication scholars consider 5. (@ wls-wlfeFal TTDE HRife ZFoe
the ‘inverted pyramid structure of news’ as a: F S e10e T -
A) Sales plo
EB; Technli)cai/strategy (A) C Rl
(C) Policy issue (B) (Bl BIoe
(D) Rhetorical device (C) #ife1t1 T3]
(D) oS ez
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6. The Chapel Hill Study was associated with:

(A) Elihu Katz and Jay Blumer

(B) Maxwell McCombs and Donald
Shaw

(C) Marshall McLuhan and Eric
McLuhan

(D) J.Tunstall and M. Palmer

7. Which one of the following is incorrectly
matched?

(A) Fourth Estate — Edmund Burke
(B) Information Society — Daniel Bell

(C) Opinion Leader — Elihu Katz and
Paul Lazarsfeld
(D) Media Logic — Herbert Blumer

8. In the World System Theory of Immanuel
Wallerstein, ‘Semi-peripheral countries’ refers to:

(A) Poor countries

(B) Developed countries

(C) Developing countries

(D) Underdeveloped countries

9. Thetendency of applying one’s own culture
as a frame of reference to judge other cultures is
known as:

(A) Ethnocentrism
(B) Cultural relativism
(C) Enculturation
(D) Acculturation

X4

6. BICole 2 SBITC gmE A e
(A) @feTe FIST @R (& FIR
(B) WIHACSTET WIFFEA QR (OIC *
(C) S=fiet STFETRI G} AfEF SR
(D) (&. GIepDe G 3. AN

7. TH @ IASH ST 2
(A) @ aPO6 — aENT AF
(B) TGN GIPIRD — wnfacet @&
(C) efIfae oo — afere FIT @2} o1&
ST
(D) ffem wifes — 246 g

8. TNES SIERCHER ST 6w
feefare ‘@fi-cifacras FfET o0
QR —

(A) wizw @

(B) T (!

(C) Smare=iret (et

(D) S G

9. e wcgfon Tawee Wit ACHOE

ERISERERICIG]

(A) GG
(B) e Relbfenm
(C) ATIeToIC=IT

(D) SHIPIETRICT=Ie




10. Media imperialism is characterised by:

I. values of periphery nations

II. media control of non-aligned
movement

III. colonial model of economic
domination

IV. control of global flow of
information by western media
industries

Codes:

(A) Tand II
(B) II and III
(C) IIand IV
(D) T'and IV

11. According to the Uncertainty Reduction
Theory, the inter-personal communication has the
developmental stages of:

I. Entry
II. Personal
III. Exit
IV. Demand

Codes:

(A) I, I and IV only
(B) II, III and IV only
(C) I, II and III only
(D) I, III and IV only

12. “Media provide the elites with a

convenient subtle, yet highly effective

means of promoting world views
favorable to their interests to maintain power”.
The social theorists who endorse this view can be
best described as:

(A) Feminist

(B) Technological determinist
(C) Positivist

(D) Neo-marxist

X-5 25

10. SfEH-IEerRIma @E) 2
I. 2ifes sifeagefl T
II. RV @2 (SABAT SHIAEA
ferrel
1. StfoF Aera SAEHT qal

V. 2IfR6f Sl sffA<mel biEs o
e

b
(A) T@xR1I
(B) MexR1lI

©) IMIexR1v
(D) TaxR1V

(Sl

11. SPAGERTD e ReR SmpE ToR-
A I -a7 RPeIa Ba—

[. afg
L. oficfae

1. «af$5
Iv. fGe
5 3
(A) @& I, 11 @R IV
(B) &<a 11, III @R IV
(C) @< I, 11 @< 111
(D) @< I, 111 9= IV

12. “Rifea swices St @Tiama i 72e,
I @ STOrE Al W, A St feried g
e st FgTe! w6 | @3 giaanfs 20:

(A) ERIEPSmE

(B) (eIt febiafifantma
(C) stfofobma

(D) fe-wfEoma
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13. Which kind of television news programme
will use the expertise of a ‘Psephologist’?
(A) Environmental disaster

(B) Live coverage of the Olympic
Games

(C) Election results analysis
(D) Discussion on crimes

14. People’s selective attention to mediated
information, consistent with previously-held
beliefs or notions is referred to as:

(A) Belief consonance

(B) Concurrent bias

(C) Correlational consonance
(D) Confirmatory bias

15. Which of the following schools promoted
the idea of ‘false consciousness’ as related to
mediated communication?

(A) Chicago School
(B) Birmingham School
(C) Toronto School

(D) Frankfurt School

16. The Normative theory that
advocates media support for cultural pluralism at
grassroots level is:

(A) Totalitarian theory

(B) Democratic participant media theory
(C) Libertarian theory

(D) Social responsibility theory

X-6

13. @I 4A0R S AW SR &) “GTCrIeTey
RCeIA0es ARG 23 2

(A) GTSIICTOE TEAGIE

(B) SIfT™IF (INGTH OICHEF 2B
(C) foioat a1 faeaae

(D) Soldly e ST

14. TR WS 19 ©F 2Feife e
7Rl TRiEe 2@ S<Ama M SF8 2 | G0 @

(A) Rfere FaGET™

(B) I A

© (.<I>1I(T<(.G’1‘11-*HG'1 P AT
(D) FIFICHE A

15. Nfewme FYREIER @Fg o
(I FoT T A 7 IRel] 21
F(E?

(A) oicall F=

(B) IfSfezyis =1

(OREOKS]

(D) TIEFE F

16. GRETEE AFOF (@G & oG
TR Sl (@ o og Alfes 23, ©f 2T
(A) GG et

(B) i #AfGRHis Mo sy
(C) fifzmfae faefd
(D) ee EsiERiED faef
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17. Which of the following factors have made 17. 3 @ Fe NWICO-97 IR
the NWICO discourse almost redundant? <Jifae 3 M e
I. The US support to the MacBride I. WFERe FhEEe 2 SiE e
Commission II. TVECE0 TIZE Tafod TE SATIIZR
II. The rise of Internet as a means of IR
communication [II. NWICO-3 &fs (s wea
III. The Chinese support to NWICO IV. (S5 GERMEe &y Aifdfens e SR
IV. The commercial media seizure of A T9 2R[&
new technology for data ik
transmission
(A) TO@R1I
Codes: (B) 11 €3% I
(A) Tand II
(©) IIIaR1vV
(B) II and III
(C) I and IV (D) ITaR1Iv

(D) and IV

18. The theory that propagates that 18. SIEIANIE RIS e A= 217 IEa

peopleinfluence each other’s willingness T© AT IR (@ 0¢ AelFe ah, ©f o6 :
to express opinions through social

interaction: (A) TCTMI o B
(A) Diffusion of Innovation (B) *ii23le1 o1 2™
(B) Spiral of Silence (C) 5-6%4 &7l ez

o G <
(C) Two-step Flow Theory D) @ fef

(D) Framing Theory

19. Mass media content is in principle — 19. ﬂmﬁm@@%ﬂf{% IGH
(A) Monosemic (A) GG
(B) Unambiguous (B) S=enREIR
(C) Equivocal (C) TR
(D) Polysemic (D) AlTETRR
20. The non-aligned countries considered 20. (SGHRACAT (e T2 T I G-
communication as a/an: (A) SR o
(A) Economic right ’
B) iIIfers iefy
(B) Social commodity (B)
(C) Tzrgem s

(C) Tool of control

D) SiR=IIy 2w 7w
(D) Non-policy issue ®)
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21. The Hutchin’s Commission was appointed
primarily to address the concerns resulting out of:
(A) Government Ownership

(B) Private Ownership
(C) Trust Ownership
(D) Co-operative Society Ownership

22. Identify the unit from among the following
that is not required for rhetorical analysis?

(A) Pathos
(B) Logos
(C) Ethos
(D) Apropos

23. Which of the following is inconsistent with
the Gandhian Philosophy of rural development?

(A) Decentralization of social and
political power

(B) Self-governed and self-sufficient
rural economy

(C) Large-scale industrialization of
villages

(D) Emphasis on health and sanitation
for all

24. Which of the following is not true for the
participatory approach of development?

(A) It incorporates the framework of
multiplicity

(B) It stresses on cultural identities of
local communities

(C) It insists on democratization of
participation at all levels

(D) Itpromotes diffusion and adoption
of technological innovations

25. The key element in participatory
development is a:

(A) collective action of stakeholders
(B) one-to-one conversation

(C) vertical flow of commnication
(D) trickle-down effect

X-8

21. o] FHFF re @ [ e el 2w
%W@Q_@{
(A) T e
(B) Irfeare Siferm
(C) GG wiferplat
(D) [ ARTS Mfereia

—e o I =N
22. (SO SFIICTPA o) N[5 (FleI [0

TG ?
(A) I
(B) GTItsi™
(C) 2
(D) SOl

23. AGT @G AN-TAAET A SR

TSR 0 SPTEfe sy 2
(A) AWE @ Ao =lfeq Rdaeacd
(B) FRpifers g wazor=7ief alidfiel si<fife
(C) &G T MR

(D) AFER G FF € (¥ 2AR@IE Ty
(&G (7Tl

24, TAIER AP Shian wwce
oA @O @RI 472
(A) @b IZga HBISE TS F(
(B) albzrsremReEm Ao kv
¥FY M
(C) @b TRBET ITOIET THLZNF g
il
(D) «ft gfesrs g gk 2gfea A
AR (T

25. ARG Sraea v areaE Semeh
R
(A) A ST (TLSIT I Sz
(B) TSI A TGS F(ioiFe
(C) @A Tary oife
(D) GFet-uies aiws




26. Identify the Anthropologist who authored
the book ‘Encountering Development’.

(A) Ernst Engel

(B) Gottfried Achenwall
(C) Arto Escobar

(D) Claus Moser

27. Community Journalism emphasizes on
(A) Celebrity stories
(B) Personality features
(C) Political elitism
(D) Indigenous knowledge

28. In a journalist’s parlance ‘Deep Throat’
refers to:
(A) Anonymous sources
(B) Official sources
(C) Police sources
(D) Known sources

29. In print advertisement copy, the element
containing tagline, slogan and name of the company
is called —

(A) Header
(B) Body copy
(C) Mandatories
(D) Baseline

30. What is common among the
following? The Wire, The Quint, The
Print and Mojo Story

(A) They are all launched by female
journalists

(B) They are all digital-only news outlets

(C) They are all internet editions of print
or TV news outlets

(D) They are all behind a ‘pay wall’

X-9 25

26. ‘Encountering Development’ 3364 Il

fa

TogRME Hizre T |
(A) ST Gree
(B) 5iGiFe Sit=_ie
(C) S @RI

(D) 1 (NI

27. MG Griers wwg oF Soa @
e, it 2= ¢

(A) 1T w2

(B) Jfewias a5l

(C) FEtfes Sifeene

(D) BT @S

28. AT SR ‘Deep Throat’ *t7a wef
96T
(A) ST 53
(B) wiRFPrRIE o7@
(©) “fferr o34
(D) ere g

29. 1215 Resiol Brtoretizs, GRIslE @3k
@A AT ¢ TrAma s
el
(A) REE
(B) IfC-fol
(C) STICTHiRA
(D) (TR

30. ‘e, MIPET, MG’ ¥k ‘Gieent @OIfR’S
S A 2

(A) @i TR A@TeE 7l 2k
(B) @afet fefebrer-eafe sweam g

(C) «eferfasar Gfesiaiam e
B Gl

(D) @&fel (ol-eTeT-93 X Tive
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31. Hypertext was invented by:

(A) Tim Berners Lee
(B) Ted Nelson

(C) JR C Licklider
(D) Vinton Cerf

32. Which of the following is the odd one outin
the context of word processing?

(A) Indent
(B) Insert
(C) Space
(D) Tracking

33. Cultural diversity is a key concept in —
(A) Free Press Theory
(B) Communist Media Theory
(C) Totalitarian Theory
(D) Social Responsibility Theory

34. The photoshop tool primarily used to
sample pixels from one part of an image and
paint those into other parts is called:

(A) Masking tool
(B) Brush tool

(C) Clone stamp tool
(D) Selection tool

35. Which of the following tagline is correct?
(A) Butterly Utterly Delicious
(B) Ye Dil Chahe More
(C) Because it’s your worth
(D) The Complete Man

X-10

31. PARGER fES!:
(A) Tox qefizmr fo1
(B) (5T (71
(©) & =i B ferpaiizos
(D) &% A

32. SYIC AEIPR-GF (2fFre N @=h
A ?

(A) ZE
(B) T
(C) =R
(D) Giifse

33. g Al Aoe @ a3 @ig—
(A) Ter-(2pi og

(B) Ffers fifat oy
(ONERIGIERIEAS

(D) ANEE nRGTETT og

34. (TG 5 T AefiFeiE =T @IE @F
Sl (A ACIe #iEs W s 2w@ie Face
J[RART F<1 =F OICF AT

(A) wifER G

(B) &l GeT

(C) GPIS 7511 Ga
(D) PIRi= Be1

35. S5F @I HHieEIRD wm 2
(A) G SIGEE fSlep
(B) T el big (I
(C) T 357 3 eael
(D) T {26 e
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36. Inthe DAGMAR modelusedinadvertising, 36. @9l ‘DAGMAR’ Y(O@EE GFia—

‘DAG’ stands for ‘Defining Advertising Goals’. ‘DAG’-a3 91 T4 ‘Defining Advertising Goals’
13 ’ 9
What does ‘MAR’ stand for? 2 ‘MAR’ -4 51 2

. o (A) WIFEIN SnCebiRPR Hoem
(B) Minimum Accepted Rejections
(C) Measurable Advertising Results (B) T wnicsebe farar e

(D) Measured Anticipated Results (C) GPIEIE SICSHIBR (FEF6

(D) GG SHFBRTeIGT @e=oa

(A) Maximum Advertising Returns

37. What are the abbreviations CPC, CPV, 37. CPC, CPV, PPV, CPA sfFaaaaiafe Aima
PPV, CPA, related to? & [TaEea 7o TFe 2
(A) Advertising in traditional media (A) @%ﬂﬁﬁ Mere ezl
(B) Analytical tools (B) fRuzze wzws
(C) Satellite broadcasting technology (C) To=zfres sl sifasa agfe
(D) Advertising in the digital media (D) fefertiet stipea Reaisig
38. What does CTR stand for in the context of 38. fSfEta Rerivita cveg 1 6 =na-«aa
digital advertising? SRS
(A) Constant Traffic Rate (A) FOI Gifs &%
(B) Click Through Ratio (B) 7= ¢ @M
(C) Click Through Rate (C) T ¢ @D
(D) Closed Transaction Rate (D) GFPTC Ge=Ie (J6
39. What is ‘FICCI FRAMES’? 39. ‘FICCI FRAMES’ (S 912

(A) Flll’l.’l festival or.ga}nlsed by FICCI (A) FICCIgRI Siicifers & crhoer
(B) National advertising awards

. . (B) wrely ol 7j7=ia
(C) Business platform for media and
entertainment industry © ﬁm/“]« Ty ficerar <fefer<s
(D) Association of TV channel owners Gl
(D) Tof® witwet siiferroma STt
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25

40. In Print Media Economics, ‘Private good’
refers to:

(A) such media product whose use by
one individual does not reduce its
availability to others

(B) such media product whose use by
one individual reduces its
availability to others

(C) mediaproducts produced by private
individuals

(D) Media products by media firms
without having valid license
41. Which of the following do not constitute
contempt of Court?
I. Criticism of ajudge in non-judicial
capacity
II. Deliberate disobedience of a
judicial order
III. Fair and reasonable criticism of
judgement
IV. Accurate reporting of judicial
proceedings

Codes:

(A) Tand I

(B) Il and III
(C) I and IV
(D) I, 1II and IV

42. The section of the Indian Cinematography
Act, 1952 which provides for four categories of
certification of films is:

(A) Section-2
(B) Section-3
(C) Section-4
(D) Section-5

43. Which section of the Indian penal code was
subject to the overriding effect of Article 361A of
the Indian Constitution?

(A) Section 165
(B) Section 499
(C) Section 124
(D) Section 502

X-12

40. 2% fifen wgNifors ‘@izret vv = :

(A) @ @I WfeaeTe 2o a9
B IS IES I SR

(B) @%« @ [ifSarene ooy a1 @i
KRKIEFREGRIICIERS kil

(C) Iyfex 7l @ye fHifI7le]
(D) 4 SV ZO12 2T G-/

e N o

41. RS @0 SMieTe SRl A0 Sl 2
e

I 999 T ST O[TZ R (FIC R A

1. GEPRIE SR ErRiFooid e
M. (I AR AP @2 (T ST ANETI

IV. GohrE aAbiio-aa TR aforawe
57
(A) T@RII
(B) II €<% III
(C) I &R IV
(D) 1, Il &R IV

42. 3G PR SiE, 1952-3 (@ (=i
SIS GATb @S foT( IR 401 *IR37191@ 2l 41 2T,
RIEGE

(A) GRF=I-2
(B) Gial-3
(C) GTele-4
(D) GiF=IA-5

43, I (15 (FIT-9F (FI GIFHE IO
e 361 A-9F SRR 2SR Aeihe
Fafes?
(A) G165
(B) (R¥I1-499
(C) CR™-124
(D) GI=IT-502
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44. Controlling the supply of Government
advertisements is considered as:
(A) Legally valid
(B) An extra-legal device
(C) A constitutional provision
(D) An ethical proposition

45. Whichone of the following is not afunction
of the Registrar of Newspapers for India?

(A) Issue certificate of registration to
newspapers
(B) Maintain a Register of newspapers

(C) Submit report to the Government
on state of the Indian Press

(D) Promote professionalism in the
press

46. Which of the following is correct
explanation about a dissolve transition?

I. Itisa transition in which two shots
overlap each other

II. The old shot becomes fainter, the
new shot becomes stronger

III. One shot is replaced by another in
a geometric pattern

IV. There is a point when both visuals
are equally strong

Codes:

(A) Only I and II are correct
(B) I, I and III are correct
(C) I, II and IV are correct
(D) I, III and IV are correct

44. TR Ko wear e s =
o3:
(A) SIiETe (3
(B) wizs-wfelie o
(C) @ AR [aw
(D) @36 (e R

45, Tatiie FaskE M @t @@ o[
sl T Sfea-a Fuffe wifng ¥72

(A) FEMADTREE AGFACEIR =I<Alolq 2mie
-1

(B) FAMCET @30 g (Register) I
EIR

(C) ool AEfeer g @gs
ARV FHHIEF Bz AR 41

(D) AT (ismifeg o< a1

46. TUoeTe peH [t fMfaie e it
w2

1. @b @1 G0 GRS TS YL =5 A==
‘SO I

11 sFst «5° 6 wim) 231, wige «i6° & censiica
2
1. g3 5" SF-9f %5 (< eyifiifes aim
Afozifere F
IV. @ @F0 SREIE 7o #5737 (ST
2
Ji'?:
(A) @9 1 9<% 11 ARG
(B) 1, II @=% III #f3<
(C) 1, I1 &% IV A5
(D) I, Il € IV A%
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X-14

47. Which of the following are audio editing

software?
I
11
I
v
A%

. Audacity

. Sound forge
. Garage Band
. FL Studio

. Final cut pro

Codes:

(A) Only L, I and V
(B) Only I, II and III
(C) Only I, II, 11T and IV
(D) Only L IL, 1T and V

48. Which of the following are audio streaming
platforms?

L
II.
I1I.
IV.
V.

JioSaavn
Gaana
Spotify
Wynk
KKBOX

Codes:

(A) LIL LIV, V
(B) Only I, I, 1T
(C) Only I1, 111, V
(D) Only LI, IV, V

49. Whichone of the following constructs most
appropriately explains web 2-0?
(A) Bureaucratic in form
(B) Unilinear information flow
(C) Static webpages
(D) User-generated content

50. According to Information
Technology (Intermediaries and Digital Media
Ethics Code) Rules, 2021 the OTT Platforms will
have to self-classify the content into —

(A) 03 Categories
(B) 04 Categories
(C) 05 Categories
(D) 06 Categories

47. fgtEResiE T @W @h @b
AFOSIH ?

I. seif

1. ATE (IS

1. ST s

IV. 9% @& 3ol

V. e IO 2l
Jz?‘]:
(A) @], 11 @RV
(B) @<L, I €< I
(C) @<=, 11, I @33 IV
(D) @<L, 11, I §<% V

48. FmReulmcs @mtwiem 2k aibw 2
1. f&eaa
I el
1. iz
IV. €%
V. @@
31?7:
(A) LILIL IV, V
(B) @<= L 11, 111
(C) @<L, 111, V
(D) @=L IL IV, V

49. el Iegelem T @b T_ow
IS web 2-0-CF I FF 2

(A) 515 SETrelfEs

(B) S(F IR 27

(C) H1If5s srERee

(D) IARFANTE 7 g g

50. TR GIEEE (FHRANTTRE S
fefeane fifeal «fem @) o, 2021 SRR
<f5fb bl Mema FaEHE @i Fce

?{_Ca' _
(A) 03 6 et
(B) 04T cifeics
(C) 05T cxifics
(D) 06 6 csfelcs
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51. Which of the following is not associated
with AI?
(A) Chat GPT
(B) DALL-E
(C) Chatbot
(D) Webex

52. Which of the following is different from the
other three vis-a-vis the parent owner company?

(A) Facebook
(B) LinkedIn
(C) Skype

(D) M S Team

53. Which one of the following is a
television scheduling strategy?

(A) Streaming
(B) Blunting
(C) Filtering
(D) Compressing

54. Which Mechanism is used to determine
whether a digital image is morphed or not?

(A) Inverse imaging
(B) Reverse imaging
(C) Image retraction
(D) Image contraction

55. Which one of the following is excluded

from the principles of media performance, as
listed by Denis McQuail?

(A) Freedom
(B) Objectivity
(C) Diversity
(D) Moral Panic

51. fasfReslkE S @b 9 @Il (AD-93
A AAFS 372

(A) oIS f&f=
(B) Tfet

(C) »i5ab
(D) €&

52. fasfRewk@ e @b A foata
AT (IEFS eTF @i s (A
HLUF?

(A) &Ag®

(B) forzees

(C) =i2A

(D) @3 @7 foF

53. FwfTieowk@ s @b Gl H oot
i
(A) Bk
(B) =R
(C) febifar
(D) FaAPiR

54, @il fSf&se1 20re RF® (morphed) & =1t
e Faai7 o @ 2fe TaTe 232

(A) ZTeif 3feR
(B) ferenf 3rmfer
(C) Te REyia
(D) TG TG

55. (©fm1 WEEEEE oifas s, fifeat
ARRFICET JePid (AT e @Fb afRge?
(A) FETS!
(B) Jfwel
(C) e
(D) o= Ses
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56. Which of the following terms is explained
by the definition ‘... articles, photographs and
others on the internet that are intended to

attract attention and encourage people

to click on links to particular websites’?

(A) Clickbait
(B) The bait

(C) The hook
(D) Clickhook

57. Which of the acronym and its full form is
incorrectly matched?

(A) VIRUS — Vital Information
Resources Under Siege

(B) MODEM — Modulator
Demodulator

(C) MPEG — Motion Picture Expert
Group

(D) HTML — Hypertext Markup
Language

58. The graphic browser ‘Mosaic’ was
developed by:

(A) Tim Burners Lee
(B) Marc Andreessen
(C) Vinton Cerf

(D) Bob Kahn

59. SEO in digital marketing is a form of:
(A) Organic marketing
(B) Social marketing
(C) Paid marketing
(D) Press release

60. What is ‘Club House’?
(A) Photo-sharing App
(B) Online community for political
discussions only
(C) Audio social networking platform

(D) Multimedia social networking
platform

X-16

56. fxfoRe sifTeriulem S b eEte
41 @S AN TOIE — ... WS NG @, 2
€ S @R SHAMIN R WA S
T2 AT 2 € S WiHe SEaRend oE
5 Fa0e SNz a2

(A) 75 @O
(B) W (I
C) W=
(D) T =

57. (B9 S 5 (Acronym) € O
s{efist Fiol o aMie 1 20 2

(A) VIRUS — Vital Information
Resources Under Siege

(B) MODEM — Modulator Demodulator

(C) MPEG — Motion Picture Expert
Group

(D) HTML — Hypertext Markup
Language

58. 2ifs ATER (Mosaic) TG FARE:
(A) o e &
(B) WiF Sife
(C) f&5a o
(D) I9

59. TUfema WEH-9a GFeg @ 3 € 61 G3ib
53] E;@ ﬁﬁ. Z.T‘@ :

(A) wisfifer e
(B) GIPIE SCHR
(C) (of3® TMFMR
(D) (=7 fafere

60. T ST F2
(A) CFIO-eIIfRR rmist
(B) (I35 AGANGF SCADBAT &)
S[TI2 FO[ D
(C) SISl GIiieT FHeTRR 2ot
(D) WG Eie o e 2nibwmst




61. Which of the following statements are

correct?

I. Red FM is a community radio

channel

II. Rainbow FM is a channel of

Akashvani

III. Big FM is a private commercial

radio channel

(A) Only II is correct

(B) II and III are correct
(C) Iand II are correct
(D) I, II and III are correct

62. ‘Aspect Ratio’, ‘Composition’, ‘White
Balance’ and ‘Close Up’ are terms related to
(A) Video Production
(B) Audio Production
(C) Digital Production
(D) Social media Production

63. ‘Dolby’technology is associated with:
(A) Film Sound
(B) Film Sereening
(C) Special Effects
(D) Cinematography

64. Action research is:

(A) concerned with direct and
immediate applicability to a
practical problem

(B) conducted as follow-up of
experimental research

(C) undertaken to suggest baseline
formulation

(D) empirical testing of historical and
secondary research

25
61. ke Rfoehr W @@/ @maf

?
[ @C 9%, O¥. 930 FNCHG @ oies
II. G GF. G5, SBHIAE G55 By

L. 79 «%. @5. 956 23cet ke @t
BIICST

(A) @& 11 AE
(B) 11 €= Il <
(C) 1@k II A5
(D) L, II €=k 111 7

62. IS R, Friiferiar, ‘@=IRs et

G ‘@IS SR (@ G A T, ©f T4 :

(A) TS ceireig

(B) SICE! (Gl

(C) Tefabra (e

(D) GIia e cereiia

63. TR’ oyfe TR X I@ @l T
(A) TF7 AT

(B) T fpfee

(C) CMileT G

(D) PICTsICHIalfRe

64. SIS 716 2
(A) @36 TRARTE TPTF 2dorF 3R
CICFF AN Gy AT

(B) ST SIREN TNl ot
sAfpifere

\S)

(C) (TR AR 21T (eI T
acrey

(D) @fsxfi qk FEel staade
ASHIR o) ATy
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65. Qualitative research assumes people and
their views to be:

(A) Homogeneous
(B) Idiosyncratic
(C) Non-ideological
(D) Sequential

66. Panel, Cohort and Trend studies are a part
of:

(A) Ethnographic study
(B) Cross-sectional study
(C) Longitudinal study
(D) Case study

67. Thetype of survey design that draws
causal relationship between dependent and
independent variables is called:

(A) Cross-sectional survey
(B) Cohort survey

(C) Trend survey

(D) Cross-lagged survey

68. The two main sources of data for the case
study method are:
I. Documents
II. Survey questionnaire
III. Interviews
IV. Content analysis

Codes:

(A) Tand II
(B) II and III
(C) Iand IV
(D) Iand III

X-18

65. @GS (Qualitative) icaael AR 8
I TOTSCF €3 ST Sl FE—

(A) NSO
(B) 3fCshmaile
(C) S-emi*E
(D) e

66. “@IfitTet (Panel), Fci6 (Cohort) @37
@S (Trend) 261 O 44

(A) @i if
(B) T1-GIIIeIe1 51T
(C) Wit Bife

(D) & 35ifS

67. S CeeEe @-2 eamie (dependent)
€ FFe ST (Variable) Wy TS 2ifeD 57,
RIEGE
(A) TA-GIFHITE ACS
(B) Icalb e
(C) @GS Alte
(D) TA-FTIC ATS

68. 1 IBIMG “wfox & (THiF 70 24iq T
—
I. «ifel

I1. S aiafet

1. ArF P

V. Rz e
N
(A) 1911
(B) II 9= 111
(C) I ¥R 1V
(D) 193g III



69. In research, the double blind experiment is
used to avoid:

(A) Experimental mortality
(B) Experimenter bias

(C) Experimental invalidity
(D) Experimental exclusivity

70. Rhetorical analysis examines media texts
to assess its:

(A) Persuasive strategies
(B) Ritual content

(C) Frequency of occurence of
identified unit

(D) Feminist discourse

71. The epistemology of scientific research is
rooted in empiricism and

(A) Tenacity
(B) Intuition
(C) Authority
(D) Rationalism

72. Strategic communication rejects the
conceptual view of communication as:

(A) circular

(B) linear

(C) triangular

(D) multi-dimensional

X-19 25

69. @ TIMH YOI T SRR, ©eT 73T
A TS =W, O T

(A) Ao Teze!
(B) #Adrwa AFeiifog
(C) e stz
(D) e waghie

70. ‘NfST GIO° (media text)-97 @OIRF

faesa¢l (Rhetorical analysis) (@ <26 WFe @
REGE

(A) 2R TeoAme FFao] SR

(B) femsmfed (Ritual) RaTae
(C) Tofere TBfGa F<Hbea Fagfe
(D) ST A

71. (RS oI SR OCg s O TRCR
wfeereqm (Empiricism) @<

(A) ool

(B) wie

(C) T¢¥

(D) Jrem

72. Fioes W@ (Strategic
communication) @R @ SIS 4w I, ©f
96T

(A) gEE
(B) @Rk
© fagarr
(D) g
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73. An assertion (A) is provided along with 73. @ iq S (A) € @6 {[% (R) (31l ez |
areasons (R). Find the correct option with regard (A) €2 (R)-47 (Fq AToF Teals e flce 2|

to (A) and (R).

Assertion (A) : Institutional efforts to
regulate the media ethics
in public domain is
confounded by public
cynicism.

Reason (R) :The watchdog function
of media is a historical
necessity buthas become
contextual in the
corporate world.

Codes:
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

e (A) ¢ S TSEE T
e s @ aAfsos
AR DR A IS
271

JE(R) 5 WA AT YT
afszfeeE awreas
g ©f FofEs i
pT-fod 2@ S |

A7
(A) (A) @R (R) Tex2 19

(B) (A) @32 (R) Twxz 7w, € (R),
(A)-3 ToYe Ay 7

(C) (A) 779y, 8 (R) e
(D) (A) fan, 58 (R) 7

74. @ R3S (A) @ @36 3@ (R) ez
| (A) G (R)-4F CFGa AT Ted’

74. An assertion (A) is provided along with
areasons (R). Find the correct option with regard
to (A) and (R).

Assertion (A) : The Indian media are not
free from tax regulation.

Reason (R) : What is applicable to
ordinary citizens is also
applicable to media,
when it is related to their
commercial activity.

Codes:

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

e e =@ |

[RIfe(A) ¢ SRSE WGN FIFE
R (2 I T3 |

geE@®R) ¢ ARG TR G [
ANy O AR (FCQ€
ATAEy Y9 ©1 $imd
FRANEE PSR A
T|fFe 77 |

A7
(A) (A) @R (R) Tex2 19

(B) (A) € (R) Temr 79, g (R),
(A)-7 Tolge I T

(C) (A) 779y, 8 (R) e
(D) (A) fan, 58 (R) 7
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75. An assertion (A) is provided along with 75. @3 KRS (4) € @3 I (R) el =itz |
a reasons (R). Find the correct option with regard (A) 9% (R)-43 =g AT Tedt 1w foice =@ |

to (A) and (R).

Assertion (A) : Impact analysis does not
demand studying how
discourse frames social
policy and social action,
in the context of
developmental
communication.

Reason (R) :The communitarian
approach focusses on
cognition and
communication
configurations as the
basis for understanding
control and social change.

Codes:
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Ao (A) ¢ THRTIS @IANEIR 2o
e F9 CHeg A
(discourse) FreI@AMIEH
TS (social policy) €
e i@ (social
action)-CF Sl I, ©f
LA FAF TIRE AT A |

I& (R) ¢ el g3k e
Gy AR IR
W] (M BO @R
RIINF TEE 89T |

A
(A) (A) @R (R) Tex2 19

(B) (A) € (R) Te33 7wy, 5% (R), (A)-7
SO ANl TR

(C) (A) 779y, 8 (R) e
(D) (A) fan, 58 (R) 7

76. An assertion (A) is provided along with
areasons (R). Find the correct option with regard

76. <=6 [KIf© (A) € ¢ & (R) ezl
| (A) G (R)-4F CFGa AT T’

to (A) and (R). 4 fre =@ |

Assertion (A) : The law of copyright is
also  applied to R9fe(A) ¢ TGEE [@AEE (Fge
advertisements in the FRNZH B2 2y |
media, FE(R) ¢ At @I PE ATH AE

Reason (R) : The copyright in the iz e Fraaea 1
advertising mgtter (=f47135) Rre e
belongs to the advertiser,
in the absence of any RIEREEE]
contract otherwise. T e

Codes:
(A) Both (A) and (R) are true

(B) Both(A)and (R) are true, but (R)is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

(A) (A) @=% (R) TeAZ 7o)

(B) (A) € (R) Temr 79, g (R),
(A)-7 Tolge I T

(C) (A) 779y, 8 (R) e
(D) (A) e, 58 (R) 7
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77. An assertion (A) is provided along with 77. @3 [KYFS (4) ¢ @3 I (R) el =iz |
a reasons (R). Find the correct option with regard (A) 9% (R)-43 =g AT Tedt 1w foice =@ |

to (A) and (R).

Assertion (A) : Viewers read television
programmes according to
the textual strategies
encoded in them.

Reason (R) :The traditional textual
analysis tended to be
authoritarian and the
reading was imposed on
the viewers.

Codes:
(A) Both (A) and (R) are true

(B) Both(A)and (R) are true, but (R)is not
the correct explanation of (A)

(C) (A)is true, but (R) 1s false
(D) (A) is false, but (R) is true

e A) ¢ Ghfesmaempmaims
GHRIE @FHE (@@
AkEfee T A, (1R
S8 ! ST
29 I |

& (R) ¢ @disre A-Ruaaceiai=e
Rerel [ TIfE IS,
O3 wEma -2
@2 SIS 2@ AF |

7 2
(A) (A) @=% (R) TeTR 7o)

(B) (A) € (R) T=x2 719y, € (R), (A)F
SO ANl TR

(C) (A) 779y, 8 (R) e
(D) (A) fan, 58 (R) 7

78. An assertion (A) is provided along with
areasons (R). Find the correct option with regard
to (A) and (R).

Assertion (A)

78. @ 3fs (A) @ @36 3 (R) ezt
Sz | (A) 9% (R)-97 (0@ Af6F Teaf
e fite 23 |
: A more cultural version

of mediatheory proposes 71 (A)

¢ WLN-90€S (mediatheory)

that media have a bias G ARG oS AFT 2B
towards certain types of M @ MG (media) DI
subject matter. 15y 21 AR 217 (71X |

Reason (R) : It is an outcome of Q@(R) o L‘]%Wﬁg/ TSI SR €3
audience perception and R e
certain expected g 2w e
consequences. g |

Codes: 79 ¢

(A) Both (A) and (R) are true

(B) Both(A)and (R) are true, but (R)is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

(A) (A) @=% (R) TeAZ 7o)

(B) (A) ¢ (R) T=3E Mwj, € (R),
(A)-3 ToY& 1y w9

(C) (A) 779y, 8 (R) e
(D) (A) fan, 58 (R) 7
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79. An assertion (A) is provided along with 79. <3 [IM© (A) @ @3l & (R) (el =z |
areasons (R). Find the correct option with regard (A) 93 (R)-93 (T TS Teals '«{IC@? forre =@ |

to (A) and (R).

Assertion (A) :Digital content creation
terms have to follow web
analytics and take
decisions  vis-a-vis
content creation.

Reason (R) :Web analytics provides
information about user
demographics and
pattern and duration of
content usage.

Codes:

(A) Both (A) and (R) are true

(B) Both(A)and (R) are true, but (R)is not
the correct explanation of (A)

(C) (A)is true, but (R) is false

e (A) ¢ <= fefenie famae 3 e
Sima S-Syl fEtEeE
SeprRel F0a g ot e
g el Tibw |

I R) ¢ eER-SNNIERR RN
A Oy, T e R
FARET 4T € IRIGEG
S S 7 |

7 2
(A) (A) @=% (R) TeAZ 7o)

(B) (A) € (R) T=x2 79y, € (R), (A)F
o ANl TR
(C) (A) 71y, € (R) fan

(D) (A) is false, but (R) is true (D) (A) e, & (R) 579

80. An assertion (A) is provided along with 80. @b KM (A) ¢ 9=l If& (R) (rewl

areasons (R). Find the correct option with regard SZ | (A) GR (R)-43 CF(q AT T 40e e
to (A) and (R).

|
Assertion (A) : The television news . .
presentation is a 7 (4) & T e TeRef
disjointed narrative. ifozel ST T2l |
Reason (R) :In the absence of W(R) s oo, Feiprcsy o oot
alternative credible TN 751/ RO &) PIOTC
information, the media oanid [F |
frames do matter for the o
g3
audience. “
Codes: (A) (A) 9% (R) T8 79
(A) Both () and (R) are true (B) (4) ¢ (R) T=R 9], € (R),
(A)-< TogE Il T

(B) Both(A)and (R) are true, but (R)is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

(C) (A) 779y, 8 (R) e
(D) (A) e, 58 (R) 7
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81. An assertion (A) is provided along with 81. ¥l [9fS (A) ¢ 4f 3@ (R) rei =iz |
areasons (R). Find the correct option with regard (A) G (R)-97 (q 103 Teafs rer fee 2|
to (A) and (R). Rgfe(A) ¢ e sffemifar Sus el

Assertion (A): Braer positioning does (TSI A= Aol
not influence the target

, . I Al
markets’ perception of
the brand. & (R) s e Afeifr @ @il
IS Tde) A9 (unique
value) Tw3 &I FIC2

Reason (R) : In brand positioning, a
brand’s unique value

proposition is explained B I A |

to the target market. 5 ¢
Codes: (A) (A) 9% (R) T8 79)
(A) Both (A) and (R) are true (B) (A) € (R) Tewz 79y, [T (R), (A)-93
(B) Both(A)and (R) are true, but (R) is not A G T

the correct explanation of (A)

. . (©) (A) 19, &€ (R) fa
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true (D) (A) Fa, %7€ (R) 71
82. An assertion (A) is provided along 82. % <9fS (4) ¢ & Ife& (R) (rean vz |
with a reasons (R). Find the correct option with (A) 9% (R)-43 %(g AT Tedt 1w e =@ |
regard to (A) and (R). 31 (A) ¢ ifes affsfaf; @wm—

Assertion (A) : Social factors, such as the
influence of family and
friends have a significant
impact on consumer’s
buying decision.

AR T € IF@R
2eIT (OIFIMd FEd
Praecs geife F49 &F
gl |

& (R) ¢ TFERI PAE (€T (Fg

Reason (R) : Consumer oftenrelies on .

the  options  and (ST ARSI AES
experiences of his/her i(.fﬂ RIGRIGE \:“\\"l\“‘\" axR
social circles to make T[T S [T I,
purchasing decisions, Reeize, 749 $F 95/?@
especially in situations sfoeee] q @S ol
where they lack prior A |

experience or knowledge.

T8

Codes:

(A) Both (A) and (R) are true
(B) Both (A)and (R)are true, but (R) is not (B) (A4) @@(R) T2 e, foe (R),
the correct explanation of (A) (A)-F T GO

(C) (A)is true, but (R) is false (C) (A) 1%y, 8 (R) e
(D) (A) is false, but (R) is true (D) (A) ey, e (R) 3%j

(A) (A) @=% (R) TeAR 7o)



83. Arrange

X-25

the followig steps of

communication for development (C4D) strategic
planning in sequence.

1. Strategic design development

N

AN

Codes:

(A) 3-1-2-
B)6-1-2-
) 1-2-6-
D) 3-6-1-

Developing and testing of messages
and materials

Need assessment

Evaluation and replanning
Implementation and monitoring
Setting the objectives

6-4-5
3-5-4
3-5-4
2-5-4

84. The sequence of different promotional
objectives in marketing communication is

Codes:

1. Advertising

2. Public relations objective
3.
4
5

Re-seller support

. Personal selling
. Sales promotion

(A) 1-4-5-3-2
B) 1-5-4-3-2
(C) 2-3-4-5-1
D) 3-5-2-4-1

83. e wivw
development)

25

(communication for
o o =N
JINog AP Gely O A

MeFAeled Fieel SEPE At 4itel Aftee

e 8

78

(A)3-1-2-6-
B)6-1-2-3-
€ 1-2-6-3-
D) 3-6-1-2-

. G ez ereaeitrs, (e

A fsfier)
(TSR TS (G5 SF @I

‘@W@G@ﬁmﬂ(ﬂﬁ,ﬁﬁ$ﬂﬁﬁ

fsfiel @ oImwe)

. T SriePTers (sifzns )
4. TepfyEie oS e (e @

GQEIER-DN))

. Ao e WG (e e

ST 1)

. (1oL W SReEgeA (a7 fHefa )

UlUlUl-lk
-lk-lk-lkUl

84. EH Iy cwea [T @i
s oRfiTes 2 ¢

1
2
3.
4
5

. SpTebIRfer

. AR e SRrEse

-G Aot

7T

(A) 1-4-5-
B) 1-5-4-
<) 2-3-4-
D) 3-5-2-

. AT @I
. T CHAICII

b—*b—*l\)l\)

3-—
3-—
5-—
4
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85. Which of the following are the sequential

X-26

85. o (P T6 MCHOL FYACHIA [RFra

stages of selling in marketing communication? ey T2l ?
1. Attention 1. SHICG=I (775)
2. Desire creation 2. oo fewmim (v i)
3. Action 3. Syl (feeam)
4. Creating confidence 4. Terivg Faieces (i Seofive)
5. Explaining customer benefits 5. @srafaR FvA @A (ol
6. Interest N s ZUTQUP
6. TV ((Fo2e/2NaR)
Codes 3
74493
(A) 1-6-4-5-2-3
(B) 1-3-5-4-6-2 (A) 1-6-4-5-2-3
(C) 2-1-3-6-5-4 B) 1-3-5-4-6-2
(D) 3-4-5-6-2-1 € 2-1-3-6-5-4
(D) 3-4-5-6-2-1
86. Identify the correct sequence of following 86. NEFH: YRR =+t e 5 -
PR effects as part of marketing communication: 2[OIET AT T 2o ¢
1. Presentation 1. CAGICOHI (2vxfa)
2. Establishing needs 2. @HIfFRR Few (vifniz afew)
3. Approach 3. SICA (Torglo)
4. Prospecting 4. 2ATR (el fsfir)
3. Product knowledge 5. (2ATGIE TETS (2I7faas o)
Codes:
L

(A) 1-3-5-4-2
B)3-5-2-1-4
€ 5-4-3-2-1
D)4-5-1-2-3

(A) 1-3-5-4-2
B)3-5-2-1-4
) 5-4-3-2-1
D)4-5-1-2-3
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87. The steps involved in establishing a media 87. «f6 ffa wICoEt 2feRim T Fwe
outlet are present below from 1 to 5. The most *ouier A w79 ¢

appropriate sequence of these steps is: 1. 9 weseis a3’ ‘;Laﬁg[@m

1. Put all parts together in an overall Jfor=re ©iE il
structure ' 2. e oIf© sAfvier ¢ fEes e
2. Determine how to coordinate and safs fdtad w1

control the flow of work
3. Assign the tasks to positions (jobs)
4. Identify the task to be performed
5. Arrange the tasks in sequential

3. TS wifer smifs o sty wikg
BEIE 3954 T4

4. @-3le T4 7Aool e Tt

order (workflow sequence) 5. Ferefs @ SEPAIC et
Codes: 798
(A) 1-2-3_4_5 (A) 1-2-3-4-5
B)3-4-1-2-5 B)3-4-1-2-5
©) 4-5-3-2_1 C)4-5-3-2-1
D) 5-4-3-1-2 D) 5-4-3-1-2
88. Arrange in ascending order with reference 88. SCE-fRa (ACR=ma &= MiFe
to audio-visual production: sfaafe %WT’I%E@ PO e ¢
1. Scene 1. B (Scene)
2. Sequence 2. ﬁ?ﬂ?ﬁlﬂ (Sequence)
3. Shot 3. G (Shot)
4. Frame 4. &9 (Frame)
Codes: 7@
(A) 2-1-4-3 (A) 2-1-4-3
B) 4-3-2-1 B) 4-3-2_1
C) 4-3-1-2 ©) 4-3-1-2
(D) 3-4-1-2 (D) 3-4-1-2

[ Please Turn Over ]
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89. Indicate the correct process of sampling.

1.
2.
3.
4.

Codes:

Select a sampling technique
Determine the sample size
Define the population

Start the sampling process

(A) 1-2-3-4
B)3-1-2-4
©) 3-2-1-4
D) 2-3-1-4

90. Identify the correct chronological
sequence of following Press Legislations in India.

1.

3.
4.
5.

Codes:

The Press (Objectionable Matter)
Act

. The Indian Press (Emergency)

Powers Act

Newspapers (Price and Page) Act
Press Council Act (First One)
Official Secrets Act

(A) 5-2-1-3-4
B) 4-3-5-2-1
(C) 3-5-4-1-2
D) 1-4-2-5-3

X-28

89

AW N =

90.

23?

ook v b=

. W(sampling)—ﬁﬁwmﬁmﬁz
. TG G S ommfs st

. TR sl fefa

. T SRSl A

7T

(A) 1-2-3-4
B)3-1-2-4
©) 3-2-1-4
D) 2-3-1-4

o~

QAW T Ze 13 e (@ @ e

@ (2 (RIS oK) 1S
7t 3G (2 (i) e s
A8 (il (221 SIS (A1er) o1
(207 TS ST (FPG S)
wIfiFRIE Prewes sng

79

(A) 5-2-1-3-4
B)4-3-5-2-1
C) 3-5-4-1-2
D) 1-4-2-5-3



91. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1
(Newspaper)
(a) Times of India

List-11
(Tagline)
(i) Yesterday, Today
and Tomorrow
(b) The Hindu (i1) Journalism of
Courage

(¢) The Indian (iii) Letthe Truth Prevail

Express

(d) The Hindustan (iv) First voice, Last
Times word
Codes:

(@ (b (© (@
@A) @ G G 3Gv)
B) @@ Gy G 3Gv)
© @G @ G 3>
D) @v) (i) () @

92. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1 List-11
(Leader) (Publication)
(a) Dr. Babasaheb (1) Young India
Ambedkar
(b) Raja Rammohan (i1) National
Roy Herald
(c) Mahatma (ii1) Sambad
Gandhi Koumudi
(d) Motilal Nehru (iv) Prabuddha
Bharat

Codes:

(@ (b (© @
Ay vy @ G (i)
B) @ aGv) () (i)
© Gv) G (@) ()
D) Gv) ) @ (i)

X-29 25

91. fFE- 97 A OIfFA-I-93 ARG [l
T GR AT Tedld A el g (A e
e |

Ol ORIl
(TeA7) (GrroenZa)
(a) DI o< B (i) TEPDIRT, I,

oIS GEIE!
(b) w2 (i) wrefifere =19
FES
(c) W & (iii) ETEWER f2res
G
(d) W 2wz (iv) FPoSE,FAPS
GBIz R

5 ¢

@ ® (@© (@@
@A) @ G G Gv)
B) @ @) G (Gv)
© G @ G 3>v)
D) Gv) @G () @

92. OIfFEH-43 I OIfer-11-43 ANG [
T GR AT Tedld A el g (A e

e |
w1 eIl
(ret) (2F1*)

(a) I AT A (1) 2TR 3

(b) el ANGNRA AR (i) A (=A7T

(c) W=l i (iii) =W @

(d) (ufeett (e (iv) 99m ©IFe
Hq 3

@ ® (@© @@
A) Gv) (@) G (i)
B) @ Gv) () (i)
© Gv) @) @O (i)
D) Gv) Gy (@) (i)
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93. Match List-I with List-II and indicate the 93. ©IfeE-I-g7 I Clfer-I1-9F ANE [
correct answer from the codes given below. T GR AT Tedls A el g (A e
P |
List-I List-I1 eIl Rkl
(Action) (Description) (%) (7“/%0')
(a) AdLib (1) Unrehearsed, (a) oTe o1 @) =P, P
unscripted action or & ARkl
speech 7
(b) Studio spot (i) Somebody otherthan
the newsreader .
within the studio (b) e 1o (i) e prece
o AW ATSF 2Tl
comes in vision and
presents a story with o (7
help of visual ‘:;'%W"W !
(c) Stand upper (iii)) AReportertelling the .
story from the site (c) ZDIIE I (iii) ToeTIZeT (e
MRIANERI I
Torglole 41
(d) PG (iv) 9ves ofe
(d) Piece-to-camera (iv) A TV presenter or Torglor il
character speaks safeere
directly to the viewing AT TG
audience through the AT we
camera S A AE
Codes: a2
@ B © @ @ d) (© (@
(A) (i) (i) (1) (iv) (A) (i) (i) (i) (iv)
By @G ) B) () @ (i) ()
(© GG © Gi) ) @) 6
D)0 G0 @) ™ () G G (V)
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94. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1 List-11
(Philosophical (Focus area)
assumption)

(1) Discourse of
discourses

(a) Epistemology

(b) Ontology
(c) Axiology

(i1) Questions of value
(iii)) Knowledge
perspective

(d) Meta theory (iv) Questions of

existence
Codes:

@ ® (@© @@

A) i)  Gv) G (@)

B) G () Gv) @®

€ @) @ G (Gv)

D) @ Gv) G (D)

95. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1 List-11
(Public Service (Country)
Broadcaster)

(a) DW (i) USA

(b) ABC (i) UK

(c) BBC (iii)) Germany

(d) PBS (iv) Australia

Codes:

(@ b (© (@
A) G @ G Gv)
B) @) aGv) (@@ (i)
©) G @Gv) G (@)
D) Gv) @@ () (i)

94, CIfFTRI-I-43 AR OIfFE--a7 ANG e
T GR AT Tedld A el g (A e
e |

w1 eIl

(T SayTIeT) (fiow =)
(a) afGEERE (i) RO Al
(b) ST (ii) SRS 2l
(c) afrerife (ill) S AT

NEET

(d) o feefa (iv) wIfeces 2

G 5

@ ® (@© (@@
A) G Gv) G @)
B) Gy () Gv) @O
€ @) @ G (Gv)
D) @ Gv) i) (D)

95. ©fTF-I-9TAC G-I~ ANEGH
fat1e T2y @3 A5 Teaf s rewt 719
QT fofze |

olfer- Olfer-l
(A3 ST T22f513%) ()
(a) DW (i) 2T
(b) ABC (i) 2T
(c) BBC (iii) i
(d) PBS (iv) SICgfewl
ST

@ ® (@© (@@
A G @ G Gv)
B) (i) Gv) @ (D)
€ @i Gv) G O
D) Gv) (@) G (i)
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X-32

96. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1

(a) Semiology is

List-I1

(i) Combination
of signifiers
and signifieds

(b) Connotation refers to (i) What is known

as material
culture

(c) Signs are understood (iii) The cultural

to be

(d) Objects and
artifacts make up

Codes:

(@ (b
A vy @
B) @Gv) (i)
© (@ (i)
O @ G

meaning
attached to
words

(iv) The study of
science of signs

© (@
(i) (i)
i (i)
(v) (i)
Gv) (i)

96. CIfFTRI--43 K OIfFE--a7 AN i
T GR AT Tedld A el g (A e

% |
w1
(a) GIRNGHS 25

(b) F(AIGHT =0

RIRRIE(S]

eIl
(i) Prefermz™

(signifiers) @<}
[HRISE e
(signifieds)

R RRIK)

(il) G FIe

(c) WF© (Sign) IO (iii) *THF AN IS

RINRIE(S]

(d) T8 ¢ Mg gl
T IR ©f 267

7
(a)

(A) (iv)
B) (iv)
© O
D) ®

Ao wid

(iv) k9 (Sign)

IREACEACEIRD
© (@
(i) (1)
(i @)
(iv) (i)

(iv) (i)



97. Match List-I with List-1I and indicate the

correct answer from the codes given below.

List-1 List-11

(Film maker) (Country)
(a) Pedro Almodovar (i) Mexico
(b) Bernardo Bertolucci (ii) Spain

(¢) Andrei Rublev (ii1) Italy
(d) Guillermo Del Toro (iv) USSR
Codes:
@ B © @
(A) (i) @G (Gv) @)
B) G G Gv) (@)
© O Gv) @>G) (i)
D) (Gv) @) 3G @)

98. Match List-I with List-II and indicate the

correct answer from the codes given below.

List-1 List-11
(Term) (Area)
(a) Beat (i) Photojournalism
(b) Strapline (ii) Printing
(c) CMYK (iii) Reporting
(d) Caption (iv) Editing
Codes:

@ ® (@© (@
@A) ©H  Gv) G (1)
B) ) Gv) @O (i)
<€ vy O () (i)
D) G Gv) G @)

X-33

25

97. ©IfFRR--43 K OIfFE--a7 ANEG [l
T GR AT Tedld A el g (A e

e |
e
(55T/56RI7)

(a) 0! SETCICEeIT

(b) 4 6 fs

(c) I3 FEAETS

oifer -1l
()
(i) IR
(ii) ¢

(iii) 2o

(d) TGN (& (O (iv) BSGAGTINR

e

@ (b
(A) (i) (i)
B) (i) (i)
© @ @G
(D) (v) (i)

(© (@
iv) (@)
iv) @)
(i) (i)
i) @)

98. CIfFTRI-I-43 K OIfFE--a7 ANEG e
T GR AT Teds A el g (A e

P |
Oifer-
(effzer)
(a) T35 (Beat)

(b) ivl A2 (Strapline)

oifer -1l
(%3)
() foacimze!
(ii) @

(c) T7 @w €73 & (CMYK) (iii) feetifoe

(d) Fi#i¥iq (Caption)

5 ¢

(@ (b
@A) @ Gv)
B) () (v)
<G vy ®
(D) i) ()

>iv) e
© (@
@) (i)
(i)  (ii)
@i1) (i)
) @
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99. Match List-I with List-II and indicate the
correct answer from the codes given below.

List-1
(Transition)
(a) Fade-in

List-11
(Description)
(1) one scene seems
to push another
scene off the
screen
(b) Wipe (ii) blending of one
scene with
another

(c) Dissolve (i1i1) black screen
gradually
brightens into an
image

(d) Fade-out (iv) image gradually
darkens to black

Codes:

(@ b (© (@
A) aG) @@ G (@Gv)
B) G @ G 3>v)
© @© Gy @G 3Gv)
O @ G Gv) (G

X-34

99. ©IfFE-l 97 A OIfer-II @7 AN [
T GR AT Tedls A el g (A e
T |

ol ORIl
(o%) (F1)
(a) (FG-34 (Fade-in) () 9= iy =y
YR A A1BE
O O

(b) @R (Wipe) (ii) 90 Feel= 0
-GG g
et

(iii) I =1 A A
@3 =fce
sif7ere =

(d) @FC-TH (Fade-out) (iv) &A@ A@ I

2@ I

(c) fos@Te (Dissolve)

e
@ ® (© (@

(A) () @) 3 ()
B) @) @O G Gv)
© @O G (i) ()
D) @ i) Gv) @)
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100. Match List-1 with List-1I and indicate the
correct answer from the codes given below.

List-1
(Term)
(a) Hard news

(b) Soft news

(c) Paid news

(d) Viral news

Codes:

(a)
(A) (iii)
(B) (i)
<© @
D) (i)

(b)
(ii)
(iii)
(iii)
(iii)

List-11
(Description)
(1) News stories
that spread
rapidly on
social media

(i1) Time-sensitive
news stories

(ii1) News stories of
personal
interest

(iv) Commercial
transaction for
news stories

© (d
v) (@
@ @)
(i) (v)

iv) @

25

100. ©IfFR--43 A OIfFe-1-a3 AN et
T GR AT Tedld A el g (A e

el |
w1
(AlfFer3r)

(a) ¢ fA%w
(Hard news)

(b) b e
(Soft news)

(c) (73T Mow
(Paid news)

(d) oz foe

(Viral news)

7
(a)

(A) (i)
(B) (i)
© O
(D) (i)

GEa
(F9%471)
() e TR
7 2UE Al
SEE|

(ii) AT

ARIM

(i) T &I wNEd

SEE

(iv) RIS @)y

Aifeifen<s e

(© (@
iv) (@)
@ (@v)
(i)  @{v)
iv) (@)
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Space for Rough Work
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